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Analysis Cuts

* Tuned by hand
 pT binning: [1.5,2.0], [2.0,2.5], [2.5,3.5]
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Raw Yield
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Corrected Spectra
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Systematics

* Not using 0-80% to estimate systematics of other centralities now
* Do Barlow test
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H3L and Lambda dNdy

Fit the spectra with statistic errors using Boltzmann(H3L) or Blast-wave(Lambda) function, integrate withir

 (Central value
pT [0,8]

* Statistic error
Fit errors from TFitResult

Systematic error
Compare central values of default cut and all cut variations

Compare central values from different function choices with default cut
(H3L: Boltzmann, mT Exp, pT Gaus; Lambda: Boltzmann, mT Exp, pT Exp, pT Gaus, pT/{3/2} Exp)
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H3L/Lambda

SH/IA
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